% of sequences

40 60 80 100

20

LNP-RNP [Citrate]

2
total eff. = 1.8 % 95 R°=0.97
= p<0.001
= p=0.001
T T T T T T T T T 1
-25 -20 -15 -10 -5 0 5 10 15 20 25

<--deletion insertion-->



% of sequences

20 30 40 50 60 70

10

total eff. = 33.9 %

9.3
3.3,

4.7

3.6

LNP-RNP [H20] 0% DOTAP

— R?=0.94
’ m p<0.001
= p=0.001
- T - | T I T I
-10 =5 0 5 10 15 20 25

<--deletion insertion-->



% of sequences

80

60

40

20

LNP-RNP [H20] 0,25% DOTAP

2
total eff. = 20 % 76.2 R°=0.96
= p<0.001
= p=0.001
4.3 58 55
-I-..—_-.T_-— T =1 T T — — [ - : : | |
-25 -20 -15 -10 -5 0 5 10 15 20 25

<--deletion insertion-->



% of sequences

80

60

40

20

LNP-RNP [H20] 2% DOTAP

2
total eff. = 8.7 % 87.8 R*=0.96
= p<0.001
= p=0.001
e iy T T ] T T T T
<25 -20 -15 -10 -5 0 5 10 15 20 25

<--deletion insertion-->



% of sequences

80

60

40

20

total eff. = 16.6 %

LNP-RNP [H20] 5% DOTAP

2
= p<0.001
= p=0.001
I ] I | | | |
-10 -5 0 5 10 15 20 25

<--deletion insertion--=



% of sequences

20 30 40 50 60

10

total eff. = 23.5 %

-25 -20

LNP-RNP [HEPES] 0% DOTAP

-15

-10

g R?=0.83
' = p<0.001
i = p=0.001
5.1
3
-5 0 5 10 15 20 25

<--deletion insertion-->



% of sequences

80

60

40

20

LNP-RNP [HEPES] 0,25% DOTAP

2
total eff. = 13.8 % 83.2 R*=0.97
= p<0.001
= p=0.001
31 17 26 2.1
‘I_-_-'I'_- T - T T T T T | I
25 -20 -15 -10 5 0 5 10 15 20 25

<--deletion insertion-->



% of sequences

80

60

40

20

LNP-RNP [HEPES] 2% DOTAP

2
total eff. = 8.3 % 88.7 R*=0.97
= p<0.001
x p=0.001
1.8
_I_-___I__-—_I_- T T ' T T T I
-25 -20 -15 -10 -5 0 5 10 15 20 25

<--deletion insertion-->



% of sequences

80

60

40

20

LNP-RNP [HEPES] 5% DOTAP

2
total eff. = 24.3 % 72.4 R°=0.97
s p<0.001
= p=0.001
7.5
2.7 3.8 2.4
'I_I__-*_.- - , T s T T T T I
-25 -20 -15 -10 -5 0 5 10 15 20 25

<--deletion insertion-->



% of sequences

40 60 80 100

20

|

LNP-RNP [PBS]

2
total eff. = 1.3 % 95.8 R“=0.97
= p<0.001
= p=0.001
T T T T T T | | | 1
-25 -20 -15 -10 -5 0 5 10 15 20 25

<--deletion insertion-->



% of sequences

60

40

20

total eff. = 27.7 %

ProDeliverin RNP

7.5
2.2 %3 2.6
TI-_-*_. : =
-25 -20 -15

-10

2_

68.9 R* = 0.97
= p<0.001
= p=0.001

i
— T T e T I
-5 0 D 10 15 20 25

<--deletion insertion-->
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